Geometry Honor/Parallel and Perpendicular/Prove Theorems/Guided Note/Nguyen/Fall2015

	Questions?
	Vocabulary


	Examples

	
	Theorem – A statement that has been proven. 


	

	
	Postulate – A statement that is accepted as true without proof.  Also called axiom.


	

	
	Transversal – A line that intersects two coplanar lines at two different points.
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	Adjacent angles – Two angles in the same plane with a ___________ and a __________, but no common interior point.
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	Supplementary angle – Two angles whose measures have a ____of ____ degree.
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	Obtuse Angle – An angle that measures greater than 90º and less than 180º.

	
	Complementary angles – Two angles who measures have a ___of ___degree.
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	Acute Angle – An angle that measures greater than 0º and less than 90º

	
	Linear pair – A pairs of _______ _______ whose ___________ ______ are _______ ____.
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	Linear Pair Theorem
If two angles form a linear pair, then they are ___________.



	
	Vertical angles – The __________angles formed by ____ intersecting lines.
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Vertical Angles Theorem – Vertical angles are ______ _________.
	Congruent Supplementary Theorem
If two angles are supplementary to the same angle (or two congruent angles), they the two angles are congruent.
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**Same for complementary angles.

	
	Corresponding angles – For two lines intersected by a transversal, a pair of angles that lie on the same side of the transversal and on the _____ ______ of the other two lines.
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	Corresponding Angles Postulate
If two // lines are cut by a transversal, then the pairs of corresponding angles are congruent.



	
	Alternate interior angles – For two lines intersected by a transversal, a pair of nonadjacent angels that lie _______ sides of transversal and ________ the two lines.
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	Alternate Interior Angles Theorem
If two // lines are cut by a transversal, then the pairs of alternate interior angles are _________.
The alternate interior angles are:
Name another set of alternate interior angles.



	
	Alternate exterior angles – For two lines intersected by a transversal, a pair of nonadjacent angels that lie _________ sides of transversal and _________the other two lines.
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	Alternate Exterior Angles Theorem

If two // lines are cut by a transversal, then the pairs of alternate exterior angles are ________.
Alternate exterior angles are:
Name another set of alternate exterior angles.

	
	Consecutive angles – Same-Side angles – Angles that lie on the _____ ______ of the transversal, ________ the two lines.
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	Same-Side Interior Angles Theorem
If two // lines are cut by a transversal, then the two pair of the same-side interior angles are __________.

The consecutive interior angles are:
Name other consecutive angles.


	
	Reflexive property - The Reflexive Property states that for every real number x, x = x.
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1 is congruent to m[image: image14.png]
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3 is congruent to m[image: image16.png]


1.

	
	Transitive property - The Transitive Property states that for all real numbers x, y, and z, if x = y and y = z, then x = z.
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2 is congruent to m[image: image19.png]
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4 is congruent to m[image: image21.png]
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2 is congruent to m[image: image23.png]


7.

	
	Substitution property- If x = y, then x may be replaced by y in any equation or expression.
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Example 1:  Lines l and m are //, and line n is a transversal. m[image: image25.png]


 1 is 103º
What is the m[image: image26.png]


 8º?  Name the postulate or theorem.    

What is m[image: image27.png]


 4º?  Name the postulate or theorem.

What is m[image: image28.png]


 5º?  Name the postulate or theorem.

What is m[image: image29.png]


 2º?  Name the postulate or theorem.

What is m[image: image30.png]


 7º?  Name the postulate or theorem.

What is m[image: image31.png]


 3º?  Name the postulate or theorem.

What is m[image: image32.png]


 6º?  Name the postulate or theorem.

Example 2:  m[image: image33.png]


8 = (2x – 45)º, and m[image: image34.png]


4 = x+30)º
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What is the m[image: image35.png]


 3?  Name the postulate, theorem, and/or property for each step.
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Example 3:  Find m[image: image36.png]


ABC

Example 4: Given: l // m
	Statements
	Reasons

	l // m
	Given
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2
	_______________ [image: image40.png]


 Postulate
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3
	_____________[image: image44.png]


 Theorem
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3
	__________ Property of Congruent
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Example 5:   Given m[image: image52.png]


1 = 125 and m[image: image53.png]


6 = 55.  Write a paragraph proof to show that line a // m.
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